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a*+b* Y bz+a Y z*+1 a’ +b? bz+a z2+1

1 1 dz
= blog(bz +a)——blog(z> + 1) +a
a2+b2{ &l ) 2 & ) J‘zz+1 |

2
S {%blogm+atanlz }

a’+b’ 2> +1

= ! e {blog(a+btan X) cosx+ax} = {b log(acos x + bsin x)+ax}

a’+ a’+b’
dx dx 1 T 1 X 7
311. = =— | cosec(x +—)dx = —=logtan(—+—
Isinx+cosx J.\/Esin(x+ﬂ) \/EJ. ( 4) V2 8 (2 8)
4
2, [ S g Lp@he0s L Dogtar beosy
a+bcosx a+bcosx b
313, I(a +b' cosx)dx:b_ +ab—abj dx i
a+bcosx b b a+bcosx
b_ a'b—ab" 1 :b cosx+a D O B
b b bcosx+a bcecosx+a

21THDORXE  (beosx+a) THEIVFENT L LT REANRHELND

d
323. j—xz (|x|<£) (z=tanx)
a+bsin” x 2
dx d . sin? x 2
dz =———=(1+tan’ x)dx 75 dx= 22 sin’ x = — — = z -
cos” x 1+z sin“x+cos"x 1+z
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A () HEE2E > +ab>0 DL X
(a+b)z"+a a+b’ a

z5+
a+b
2:1/ tan@ L dz—1/ 2. 0 tan@ = a+bz
a+b cos’6 a
a+b 1 can a’ +ab tan x

= tan x = ——tan
a+b \/a +ab a’ +ab a
@ HREE 2 o’ +ab<0 DL &

b= 1 j dz 1 \/a-l- J*( 1

a+b a+b 2\J—a
z? —( )
a+b a+b

1 NJa+bz—+—a 1 —a’—abtanx+a

)dz

= log log
2\—a*—ab \/a+bz+ -a 2\/—a2—ab J—a? —abtanx—a
324, jd— (|x|<£) (z=tanx)
a+bcos’ x 2
2
dz,dx 13 bFLEFEE cos® x = — 2005 al — = ! - A= J.—
sin“x+cos“x l+z az"+a+b
1 dz 1 a
== 1) a*+ab>00F =——tan™" tan x
'[ 2 a+b., Va® +ab a+b
z7+([—)
a
2
= ! tan 't X4 +ab tan x 2 a*+ab<0 DL x
Na® +ab a+b
1 1 — 1 1
gﬁ:_j dz _ 1, A-a j( B )dz
a* , a+b_, a 2dJa+b a+b a+b
z7=(|—) z—, z+
-a -a -a
L 1 log —az—~a+b _ 1 1Og\/—az—abtanx+a+b
N-a?—ab  A—az+a+b  2\-4® —ab N—a’—abtanx—a—b
dx
dx cos? x T
325.j - — :j > (|x|<—) (z=tanx)
acos” x+bsin” x a+btan” x 2
2= @) ab>0 prE G- j =lj &
cos” x a+bz?

+
SR
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:\/Etan0&i5<<‘: dz=\/zd—?, tan9=\/Ez Nl (RN = ! 0
b b cos“ 0 a

a6 _1\/_tanx

r az‘r a

2 ab<0 DL x

J- dz 11

= \/ZJ'{ ! - ! }dz: ! log\/zz_\/;
2 —(JCab)y b 2V-a z—yJ(=a/b) z+./(-a/b) 2—ab T Nbz++-a

1 lv—abz—\/— 1 log abtanx+a
2\/—a «/—abz+«/( ) 2\/—a btanx—a

. 2 4
326-! 51r12xcosxc'z’x2 B J-(acos x+bsin” x)'dx _ 1 log(acos? x +bsin® x)
acos” x+bsin” x 2(b a) acos’ x+bsin® x 2(b—a)
-b)t 2
398, J- dx _ 2 fan-! (a—Db)tan(x/2) +c

, DT
a+bcosx+csinx g2 _pr_;? Jar=pr=¢c?

1 (a—b)tan(x/2)+c—+b* +c’ —a’ x
= log (|x|<7r) (z=tan>)
Vb +c* —a’ (a—b)tan(x/2) +c+b* +c’ —a’ 2

2dz 2
> 24 dz
j 1+z ZI z :I a-b
1-2° 2z (a—b)z* +2cz+a+b c , a -b"-c’
a+b- s tc: 3 (z+ )+ 2
1+z I+z a—b (a—Db)
[ 2 32 2
D a*>b>+c’ prx 4 =N b =c tand LIRNT
a—b a—>b
tanf = azb z+ ¢ dz = a’-b" ¢’ .49
Va’ -b* -¢? Na’ -b* -¢? a—b cos” 0
Bt 2 a—b 2 can-! (a—b)tan(x/2) +c

=—tan 0
a— b Na’ -b* -’ Na’ -b* -c’ Na’ -b* -c?
@ a’<b>+c® DEx [FEERIC

e L a=b g 2tlela=b)- b2 +c? —a® [(a-b))
a-b o e o Z+(c/(a b)) + (b2 +c? —a® [(a—b))

3 1 10g(a—b)tam()c/2)+c—\/bz+c2—a2
b+t —a’ (a—b)tan(x/2) +c++b* +c* —a’

14



2dz

2
329. [ L = Ltz = dz (z=tan> )
a(l+cosx)+csinx a(1+1_Z )+c.i 2
1+z? 1+z

= llog(a +cz) = llog(a + ctan f)
c c 2

331, j(x+51nx)dx:j j sin x :J‘(tanf)’xdx I(1+COSX) ,
1+ cosx 1+cosx 1+cosx 1+cosx

cos(x/2))’

(
—xtan—— tan—dx log(1+ cos x xtan +2
j & )= j cos(x/2)

dx —log2cos’ %

:xtan%+210gcos%—2logcos§—log2 EH —log2 RV T ’ékiﬁzxtang

xdx T X, T X T X
338. =|x 3—tan(—— =) dx =— xtan(— — =) + | tan(— — —)dx
J‘1+sinx j { (4 2)} (4 2) j (4 2)
j tan(— - —)d = j —sin a j (secx —tan x)dx =log tan(E E) +logcos x
COS X 4 2

1o {(cos(x/2) + sin(x/ 2)}{0052 (x/2) —sin?(x/2)}
-8 cos(x/2) —sin(x/2)

210g(cos 5 +sin )

=2lo \/Ecos r_x =log?2 + 2logcos r_x
g (4 2) g g (4 2)

Shpn ks log2 wlE [ canE - Ty s 2logeos(E oY) s,
I+sinx 4 2 4 2
xdx ToXx
339. = cot——— dx—xcot——— cot(— ——)dx
[ = Jxleor )} =) [eot=2)
X X X . X
T x COS— +sin— (cos—+sin—) |+ sin x
moe feotE-Dydx = [—2 2dx_j 22 gy = [
4 2 X 2 X 2 X COS X
cos > —sin > cos” — —sin” =~
2 2
2 X L, X
T x cos 5—sm5 1 L ox
= logtan(— +—) —logcos x = log =log — = —log(cos— —sin—)
4 2 X X\ I—sinx 2 2
(cos——sin—)” cosx
2 2
= —2log~/2sin 2 Y= _log2-2logsin(Z -2
g S g gsin(-=2)
ER log2 ZFRE Eufﬁzxcot(%—§)+210gsin(%—£)
340. j xax —Ix (tan—) dx —xtan—— j tan — dx xtan j (cos(x/ 2))
1+cosx cos(x/2)
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X X
= xtan—+ 2logcos—
2 2

341.! xx —jx (- coti)'dx——xcot—+jcot dx =—xcot— +2j(51n(x/2))
1-cosx 2 sin(x/2)
:—xcot£+2logsin£
2 2
343. Id— z=tanx LPBWNT %‘LKZI ;{Z 5 (z=tanx)
a+btan” x (a+bz")1+2z7)
gty LTS g kR 5.

a+bz’ 1+z2°
g—as=1 p—ar=0 g¢q—-bs=0 p-br=0 b p=r=0

1 1 1 1
q= b s = o HAl= j( b 5= >)dz = I 5 dz
b-a b-a b—a’ a+bz" 1+z b—a’ z" +(a/b)
! dz H1ET z—\/itané’ dz = \/Z. a9 H—tanl\/gtanx
1+2° b cos’ 0 a
tn —z— tanlz—b \/7tan (\/7tanx)—tan tanx}
x—[tan (\/7tanx
344, j tanxdx —j 1 z{jaz+§)d2_J~ abdz} (2= tanx)
a+btanx (a+bz)(1+z ) a’+b 1+z a+bz
1 a(l+z%) a(a+bz)'dz}
= dz+b -
a2+b2{2j 1+ 27 j1+z j a+bz
=— 9% log(a+bz)" +log(l+ zz)}+Ltan*‘ z
2(a’ +b%) a’+b’
a y b 1
=—————log(a+btanx)” cos” x + X = bx —alog(a +btanx
2 b ) EIvELabmIve & )
—alog cosx} = {bx —alog(a+btanx)+alog secx}

a® +b’

345. jxsin xdx = j(— cosx)'xdx = —xcos x + jcos Xdx =sinx — xcosx

346. Ixz sin xdx = j(— cosx)'x’dx = —x* cosx + ZIxcosxdx =—x’cosx
+2(xsinx—Jsin xdx) = —x* cos x + 2xsin x+2cos x = 2xsin x — (x* —2)cos x
3 _ 3 2 _ 3 2 . .

347 | x sinxdx =—x"cosx+ 3| x” cosxdx = —x" cosx + 3(x” sin x — 2| xsin xdx)
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= —x> cosx + 3x” sin x + 6xcos x — 6sin x = (3x*> —6)sin x — (x” —6x)cos x
348. jx’” sin xdx = j(— cosx)'x"dx =—x" cos x + mjx""1 cos xdx

x—m+1 1

sin . sin 1 cos
353. j—xdx = J.( )’ sin xdx = — S )1c+ J. fcdx
x" —-m+1 m-1 x"" m-17 x"

355. J‘Ld = jx(— cotx)'dx =—xcotx— I(— cotx)dx = —xcotx + logsin x
sin” x

356. J‘dex = jx(tan x)'dx = xtan x — jtan xdx = xtan x + logcos x
Cos” X
sin(m—n)x _ sin(m+n)x
2(m—n) 2(m+n)

cos(m+n)x cos(m—n)x

364. jsin mx sin nxdx = %J' {cos(m —n)x —cos(m + n)x}dx =

365 jsin mx cos nxdx = lj' {sin(m + n)x +sin(m — n)x}dx =
2 2(m+n) 2(m—n)

}dx _ sin(m + n)x N sin(m —n)x
2(m+n) 2(m—n)

366 jcos mx cos nxdx = %J' {cos(m +n)x +cos(m—n)x

369. Isin(mx + a)sin(nx + b)dx = —%j [cos{(m +n)x+a+ b}— cos{(m -n)x+a-— b} ]dx

_ sin{(m +n)x +a +b] N sin{(m —n)x+a—b}
- 2(m+n) 2(m—n)

370.jcos(mx+a)cos(nx+b)dx:%j [cos{(m+n)x+a+b}+ cos{(m—n)x+a—b} ]dx

_sin{(m+n)x+a+b] N sin{(m —n)x+a—b}
- 2(m+n) 2(m—n)

371. j sin(mx + a) cos(nx + b)dx = % j [sin{(m +n)x+a+b}+sin{(m—n)x+a—b} Jdx

_ cos{(m +n)x +a +b] B cos{(m —n)x +a—b}
- 2(m+n) 2(m—n)

372. jsinzmxdx = lj(l —cos2mx)dx :l(x - Lsin 2mx) = L(mx — Sin mx cos mx)
2 2 2m 2m
) 1 1 |- 1 .
373. jcos mxdx = —j(l + cos 2mx)dx =—(x + —sin 2mx) = — (mx + sin mx cos mx)
2 2 2m 2m

374. Isin mx cos mxdx = lJ‘sin 2mxdx = —Lcos 2mx
2 dm

375. jsin nxsin” xdx = [(m,n) £ <,

!

cosnx | . 1 ) m e . .
I(m,n) = j(— j sin” xdx = ——cosnxsin” x +—I{cos(n —1)x *sin”"' x —sin nxsm'”x}dx

n n n
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1 . m . m m
= ——cosnxsin” x+—jcos(n —1)x *sin™ " xdx ——I(m,n)
n n n

NG jsin nxsin” xdx = {— cosnxsin™ " x + mj cos(n—1)x *sin"" xd x}

m+n

378. jcosnxcosmxdle(m,n)&isé‘ 375. FIRRER L. I(m,n) 2>\ TEL,

’

I(m,n) = Nsm nxj cos” xdx = lsin nxcos” x +ﬂjcos(n —1)x *cos™ xdx—ﬂl(m,n)
n

n n n

386. Isin ax sin bx sin cxdx = —%I cos(a + b)xsin cxdx + %jcos(a —b)xsin cxdx

= %j {sin(a —b+c)x+sin(b+c—a)x+sin(a+b—c)x—sin(a+b+ c)x}dx

_ 1 cos(a—b+c)x+ cos(b+c—a)x+ cos(@a+b—c)x cos(a+b+c)x
4 a—-b+c b+c—a a+b—c a+b+c

387. j cos ax cos bx cos cxdx = %j cos(a+ b)xcos cxdx + %jcos(a —b)xcoscxdx

= %j {cos(a +b+c)x+cos(a+b—c)x+cos(a—b+c)x+cos(b+c— a)x}dx

1 sin(a+b+c)x+ sin(b+c—a)x+sin(c+a—b)x+sin(a+b—c)x
4 a+b+c b+c—a c+a-b a+b—-c

388. Isin ax cos bx cos cxdx = %jsin(a + b)x cos cxdx + %jsin(a —b)xcos cxdx

= %j {sin(a +b+c)x+sin(a+b—c)x+sin(a—b+c)x+sin(a—>b— c)x}dx

_ 1 cos(a+b+c)x_cos(b+c—a)x+ cos(a+b—c)x+ cos(c+a—b)x
4 a+b+c b+c—a a+b-c c+a->b

3809. j cos axsin bxsin cxdx = %j sin(a+ b)xsin cxdx — %j sin(a — b)xsin cxdx

= %I {cos(a +b—c)x+cos(a—b+c)x—cos(a+b+c)x—cos(b+c— a)x}dx

1 sin(a+b—c)x+sin(a—b+c)x_sin(a+b+c)x_sin(b+c—a)x
4 a+b-c a—-b+c a+b+c b+c—a

ook
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